CATALOGUE EDITION 5




Handles

1010041 - 1010045
Pg.165

®0000c0ccc0sscscscesscsccocsoe
| ;;

00 000000000000000000000Q0000000000E T etiotestertasosegococccecsossccscccsccsccsccscns

16_150_46_B
Pg.167

000000 cssessrscsssssssossooe

22_3 36_105
Pg.169

19 3 112_P
Pg.171

12_T_100S/CL001
Pg.173

LI I ol i L Rl il i R R R X R Rl T Rk ko
©000000000000000000000000 0

164

1010053
Pg.165

223 19 KIC
Pg.168

12_1115S/92268
Pg.170

22 3 31 58 KIC
Pg.172

-oo-oo--'o-oooooo-ooof.noooooonoooooonooonooo

100_1_58_C/K
Pg.174

°
©0000000000000000000000000000000000000000000
.

®c 0000000000000 000000 00
.

1010061 - 1010065
Pg.165

A

27 3 45 K/DIC_C
Pg.168

1

22 1.1155/92268
Pg.170

O Y R NN

22 3 37.78
Pg.172

96_1_15/92268
Pg.174

eecccsccccccsscccccce

©000000000000000000000000000000000000000000000000000000000000000000000000000000000000000
.

©000000000000000000000000000000%000000000000000000000000000

9401
Pg.166

1010120
Pg.166

©000000000000000000009000000000000000000000

22 3 105 25 P_P/K
Pg.168

eececdeccscssscccesscsccoccce

12_L115SP/AC
Pg.170

22_T60/92268/CAM
Pg.173

115_1_105/92268
Pg.175

eecccsccccccsssccccccce

©000000000000000000000000000008000000000000000000000000000000000000000000000000000000000

22 3 23 94 K/D/C
Pg.169

|

22_L115SP/AC
Pg.171

12_T60S/92268
Pg.173

84_1_30_B/K
Pg.176

g2 s s eccesseeeeeeeeeeeqee00000000000000000000000000000000000000000090000000000000000000000000000000000000000000000000000000000000000

0-0-000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000000

56_116_S/H
Pg.166

©ecc00000ccc00000000000000 0

©0000000000000000000800000000000000000000000000000,00000000000000000000000000000

22 3 31_100_K/C
Pg.169

22_L115/92268/CAM:
Pg.171

Pooe

[
\

22 T 60S/92268
Pg.173

00000000000000000000000000000000000000000000000000000000000

0000 00000000000000000000000000d000000000000000000000000000p0000000000000000000000000000080000000000000000000000000Q000000000000sssssssosscssssocos

®c00000000000000000000000000000



Standard Handles

Part number Material A B C | Washer | Screw
(mm) | (mm) | (mm)
1010041 Zinc,Chrome Plated 6 30 50 M4 M4 X 10
1010042 Zinc,Chrome Plated 6 30 75 M4 M4 X 10
1010142-8 Zinc,Chrome Plated 8 30 75 M4 M4 X 10
1010043 Zinc,Chrome Plated 10 40 100 | M5 M5 X 12
1010044 Zinc,Chrome Plated 12 46 15 | M6 M5 X 12
1010045 Zinc,Chrome Plated 12 60 200 | M6 M5 X 12

Part Material A B (o3 Washer | Screw
number (mm) | (mm) | (mm)
1010053 | Zinc,Black Powder Coated 10 40 100 M5 M5 X 12

Part Number | Part Number Material H H
Chrome Stainless Steel (mm) (41.5) (51.5)
1010061 1010066 Zinc 87 141 151
1010062 1010067 Zinc 100 241 251
1010063 1010068 Zinc 120 341 351
1010064 1010069 Zinc 135 441 451
1010065 1010070 Zinc 150 541 551

165

Enclosures

Rotary Operating . .
Handles Accessories Handles Locks Hinges

Insulators

Transformer
Equipment

Index



ss|pueH
slole|nsu S9110SS82D Sa|pue SHO0 sabul S8.INSOo|ou
Jeinsu Bugesado 1oy . v IpueH %007 IH joug

juswdinbg
Jawiojsuel |

xapu|

Flush Grab Handle

Part Number

Description

9401
11002

Small

Large

Part Number
1010120

Description

Black plastic with aluminium strip

Part Number

Description

56_116_S/H

166

Spring loaded flush grab handle




Grab Handles

Part Number
16_150 46 B

Description

Large plastic grab handle

Part Number

Description

13_150_53_B

Medium plastic grab handle

Part Number

Description

12_123 40 B

Small plastic grab handle

167

Enclosures

Rotary Operating ) )
Handles Accessories Handles Locks Hinges

Insulators

Transformer
Equipment

Index



ss|pueH
slole|nsu S9110SS82D Sa|pue SHO0 sabul S8.INSOo|ou
Jeinsu Bugesado 1oy _ v IpueH %007 IH joug

juswdinbg
Jawiojsuel |

xapu|

L-Handles

Part Number

Description

22 3 19 KIC

Key lockable L-handle Chrome

Part Number

Description

27 3 45 K/D/C_C

Key lockable compression L-handle with dust cap adjustable
depth, Chrome

27 3 45 K/DK_C

Key and Padlockable compression L-handle with dust cap,
adjustable depth

168

27 3 45 K/DIC

Key lockable L-handle with dust cap 117mm, Chrome

Part Number

Description

22 3 105_25 PP/K

Padlockable L-handle , Chrome



L-Handles

Part Number

Description

22 3 23 94 KDC

Key lockable L-handle with dust cap 94mm, Chrome

Part Number

Description

22 3 31_100_K/C

Key lockable L-handle 100mm, Chrome

Part Number

Description

22_3_36_105K/B

Black powder coated ZDC housing and handle,MS cam, Key
locking

22 3_36_105K/C

Chrome plated ZDC housing and handle, MS cam, Key locking

22 3 36_105B Black powder coated ZDC housing and handle,MS cam,Non
locking
22 3 36_105C Chrome plated ZDC housing and handle, MS cam, Non locking

22 3 36_105SS

Stainless Steel housing and handle,Stainless steel cam,non
locking

Enclosures

Rotary Operating ) )
Handles Accessories Handles Locks Hinges

Insulators

Transformer
Equipment

Index

169



juswdinbg so|pueH
sloje|nsu S8110SS800Y sa|pue| SH)00 sabul s8Jnsojou
Jawlojsuel] ke Bunesadp Atejoy ’ IPUEH o0 'H 1Pu3

xapu|

L-Handles

cutour

5.5 x2
<

Description

L-handle Chrome Locking Concealed Fix With Spindle
L-Handle Chrome Locking Concealed Fix With Spindle

Cut out

TS=1-5mm

Description

L-handle Chrome Locking 1/4 Turn Fix With Spindle
L-Handle Chrome Locking 1/4 Turn Fix With Spindle

Remarks:

Key options:

Key 92268  Part Number

Key CLOO1 12_L1155/92268
12_1L115S/CL001

Remarks: Part Number

&ey gggggg 22 11155/92268

ey
Key CL001 22 _L115S/CL001
Remarks:

Movement options:
A/C - Anti-clockwise to unlock
C/W - Clockwise to unlock

curour

Part Number

Description

12_L115SP/AC
12_L115SP/CW

L-Handle Padlockable Concealed Fix With Spindle A/C To Unlock
L-Handle Padlockable Concealed Fix With Spindle C/W To Unlock

170




L-Handles

Remarks:

Movement options:

A/C - Anti-clockwise to unlock
C/W - Clockwise to unlock

Ccutout

Part Number

Description

22_L115SP/AC
22_L115SP/CW

L-handle padlock 1/4 turn fix with spindle A/C to Unlock
L-handle padlock 1/4 turn fix with spindle C/W to Unlock

Remarks:

Movement options:

A/C - Anti-clockwise to unlock
C/W - Clockwise to unlock

cut out size

M

22240.2

Part Number

Description

22_1115/92268/CAM

L-Handle Chrome Locking 1/4 Turn Fix No Spindle With Cam

22_L115P/CW/CAM

22_L115P/AC/CAM

L-Handle Padlockable 1/4 Turn Fix No Spindle C/W To
Unlock With Cam

L-Handle Padlockabke 1/4 Turn Fix No Spindle A/C To
Unlock With Cam

SUPPORT ~ g

Ts=50(MAX

Part Number

Description

19 3 112_P

Padlockable quarter-turn compression handle with double bit drive

171

Enclosures

Rotary Operating ) )
Handles Accessories Handles Locks Hinges

Insulators

Transformer
Equipment

Index



juswdinbg so|pueH
sloje|nsu S8110SS800Y sa|pue| SH)00 sabul s8Jnsojou
Jawlojsuel] ke Bunesadp Atejoy ’ IPUEH o0 'H 1Pu3

xapu|

T-Handles

T - Handle

Remarks:
For cam options refer to pages 159,160,161

Part Number

|

Description

22 3 31 58 K/C

Key lockable T-handle, Chrome

ey locking Ner-iocking

172

Part Number Description
22 3 18 BK 78 Black powder coated ZDC housing and handle, MS cam, Key
locking
22_3_30_60B Black powder coated ZDC housing and handle, MS cam,Non

locking

cut out size

21

Part Number

Description

22_T60/9226

T-Handle chrome locking 1/4 turn fix no spindle with cam




T-Handles

Mini T - Handle

cut out size

square shaft

Part Number Description

12_T_60S/92268 T-handle chrome locking concealed fix with spindle key 92268

Large T - Handle

12_T_60S/CL001 T-handle chrome locking concealed fix with spindle key CL001

GASKET
1S=1-8

DOOR PANEL—"

Part Number Description

22 T 60S/9226 T-handle chrome locking 1/4 turn fix with spindle key 92268
22_T_60S/CL001 T-handle chrome locking 1/4 turn fix with spindle key CL001

Remarks:

Concealed Fix , Movement 180 Degrees
Key options:

Key 92268

Key CL001

cut out size
2-25.5

Part Number Description
12_T_100S/CL0O01 Large T-handle chrome locking concealed fix with spindle key
CLO001
12_T_100S/92268 Large T-handle chrome locking concealed fix with spindle key
92268

173

Enclosures

Rotary Operating ) )
Handles Accessories Handles Locks Hinges

Insulators

Transformer
Equipment

Index



sabuIH saJnsojouy

S)007

Flush Mount Handles

cutout

Part Number Description

sa|pueH
sloje|nsu S8110SS900! sajpue
neinE Bunelsadp Aiejoy ’ v [PRHEA

juswdinbg
Jawiojsuel |

xapu|

100_1_58 C/K Key lockable flush adjustable paddle latch with T-handle , Chrome

cuT ouT SizZE

L1

Part Number Description

96_1_15/92268 | Black zinc flush handle keyed 92268

96_1_15/CL001 | Black zinc flush handle keyed CL001

e

Part Number Description

115_1_105/92268 Black plastic flush handle keyed 92268

115_1_105/CL00O1 Black plastic flush handle keyed CL001



Flush Mount Handles

Cut out

Part Number ‘ Description

84_1_30_B/K Black PA housing and handle, zinc plated steel support

175

Rotary Operating . .
Insulators Handles Accessories Handles Locks Hinges Enclosures

Transformer
Equipment

Index






